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2.

INSTRUCTIONS TO THE CANDIDATES
This Question Booklet is printed in two languages—Hindi and English. Examinees can select any one of the
two languages according to their convenience.
There are two papers in the State Eligibility Test. The first question paper (compulsory question paper) is
General Paper on Teaching and Research Aptitude. The second question paper is the subject selected by the
examinee. Only one combined OMR sheet will be provided for both the question papers. The Second paper of
optional subject will be given to the examinee at 1 p.m. The code of the second question paper subject selected
by the examinee should be marked in the OMR Sheet. The booklet number of the second question paper has
to be marked in the necessary entries. The examinee can start second question paper at 1:05 p.m. There are
100 questions in the second question paper (optional subject). The squence of these questions is 51 to 150. In
a combined 0.M Jl. Sheet, the examinee should mark the answers of the second question paper in the part of
Second Question Pdper. The examinee himself will be responsible for marking the answer in the wrong
order.
All questions are compulsory.
All questions carry equal marks. 2 marks will be given for each correct answer. There is no provisions for
Negative Marking.
On the cover page the number of pages is indicated in the Question Booklet. The examinee should verify that
the requisite number of pages are attached in the Question Booklet, otherwise he/she should ask for another
Question Booklet.
Read carefully the instructioDS given on theAnswerSheet (OMR Sheet) supplied and indicate your answezs according.
Kindly make necessary entries on the Answer Sheet (OMR Sheet) only at the places indicated and nowhere else.
Examinee should do ̂ 1 rough work on the spaces meant for rough work in the pages given in the Question
Booklet and nowhere else, not even on the ̂ swer Sheet (OMR Sheet).
If there is any sort of mist^e either of printing or of factual nature in any question, then out of the Hindi and
English versions of the question, the Hindi version will he treated as standard.

10. Use of any type of calculator, log table etc. is prohibited.
11. Examinees will leave the Examination Hall only after handing over the OMR Sheet to the Invigilator at the

end of the examination at 3:05 p.m.
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51. im ^ t ?

(A) #1^3^

(B) ^ef

(C) imi ̂

(D)

52. ^ ^ Tft--q^

HPT ̂  ̂kn ■§■ ?

(A) 4-5 (B) 5-6

(C) 6-7 (D) 7-8

53. "f^TH ychK WTH ^ ?

(A) Muly^d (B) ^/HPTt

(C) (D) HHl/mHl

54. HksPT "Bkn
■ t :

(A) f^«TkT

(B)

(C) ^TTT^' ^

(D)

55. ■q^?^ ^ <^H|cj(i ^ ̂
1M i{ kfRPPT wjki ^

'^* "f^RTT ^3TM "i" ?

(A)

(B) U.R-^Plch

(C) kWrlfk^ STRl

(D)

(3)S/15/2022/A

51. Nutrition is the science of :

(A) Combination of food

(B) Food stuffs

(C) Nutrients

(D) All of the above

52. What is the pH value of essential amino
acid histidine ?

(A) 4-5

(C) 6-7

(B) 5-6

(D) 7-8

53. Which type of food emulsion is
Mayonnaise ?

(A) Water/Oil (B) OiFWater

(C) Oil/Oil (D) Water/Water

54. Sensory evaluation of food is affected

by:

(A) Physical conditions

(B) Psychological factors

(C) Environmental factors

(D) All of the above

55. Which of the following is used as
a stabilizer to improve the texture of
food ?

(A) Benzoic acid

(B) Alginic acid

(C) Propionic acid

(D) Hydrochloric acid

P.T.O.
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57.

58.

59.

60.



f :'

(A) c==!JRh 3fk dl^RHH

(B) sfk dl^r^H

(C) sfk sTTf^rto

(D) 31T^#Q^3j^

62. 3W (1992) ̂

t^Rife ̂  mRiRh "^rfwif

^ 311^ TTf^T "^rt :

(A) 6-11

(C) 2-3

(B) 3-5

(D) 2-4

63. "n^fe^lT ^

"« ̂  Tf^ ci^n Afechd

^ cj^iTtjia "f^FRTT "W "t ?

(A) 40 g/L ^ ̂

(B) 50 g/L ^ ̂

(C) 60 g/L ^ ̂

(D) 70 g/L ^ ̂

(3)3/15/2022/A

61. Amino acids that are essential for

infants but non-essential for adults

are :

(A) Leucine and Lysine

(B) Valine and Lysine

(C) Histidine and Arginine

(D) Valine and Isoleucine

62. According to Food Guide Pyramid

released by U.S. Department of

Agriculture (1992), daily servings of

vegetables in diet should be :

(A) 6-11 (B) 3-5

(C) 2-3 (D) 2-4

63. Which level of Hemoglobin deficiency

during pregnancy is classified as severe

anemia and a medical emergency ?

(A) Less than 40 g/L

(B) Less than 50 g/L

(C) Less than 60 g/L

(D) Less than 70 g/L

P.T.O,



64. -qif ^

t:

(A) ̂

(C)

(B)

(D)

65. W ̂  -% 37RFT

THBT SiiaRcti mRiRiRptT ciilM.

^  -3^^ ̂  -RM 4i^dldl-t ;

(A) 37T^^T^ "31^ ̂

(B) ^

(C) ^

(D) 37^ wi

66. "d^ ̂  ^ f^a# 3^^

■qft "RM RtictA yRl^ld «l(ol^ "qd ^911? dt

^ t ?

(A) 8-10%

(C) 10-20%

(B) 10-15%

(D) 20-25%

67. g1c^ did, 3?k chlnei ^arr

MI^QRi^T 1^* dtd t :

(A) ^

(B) ^

(C) Tf^ "q^ftfiFTT ^

(D) 3R^

(3)S/15/2022/A

64. Disease in which gluten sensitivity is

found :

(A) Sprue

(C) Colitis

(B) Celiac

(D) Dysphagia

65. The amount of energy required to

maintain the resting body's internal

activities after an overnight fast is

called:

(A) Basal Energy Rate

(B) Basal Metabolic Rate

-(C^'-Basal Resting Rate

(D) Basal Energy Expenditure

66. What percentage of energy intake is

recommended to increase in case of

Acute Fever (Typhoid) ?

(A) 8-10% (B) 10-15%

(C) 10-20% (D) 20-25%

67. Loose teeth, swollen tender joints and

hemorrhages in deep muscles are

characteristics of:

(A) Scurvy

(B) Beri-Beri

(C) Severe Anaemia

(D) All of the above
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-y^ie "^."^rrat "t ?

(A)

(B)

(C) wr

(D) "5^5^ ̂

69. -^n^^lte-. -qWto aTOOT :

(A) ̂ ^rut ̂  :f^ ̂  ^

(B) wrpii ̂  -qjt fPTto ̂  ̂

1^

(C) ^ ff*5H ̂  1^

(D) .

70. ai5?mH ^ ̂ ^

^  ̂,1^ ̂  t,

fit ^>Br "^RIT ^ :

(A) siKq-^ aft^ Rri*cii«i . -

(B) vHter Rn'chq

(C) ̂  5k <^\iSx\i

(D) Ri«i«i

-v^

(3)S/15/2022/A

68. When oliguria is present, what type of

diet is recommended ?

(A) Protein restricted

(B) Sodium restricted

(C) Flind restricted

(D) All of the above restricted

69. Nutritional assessment of a community is

ess^tial in order to :

(A) Identify prevalence of malnutrition

(B) To control ratfe of infection

(C) To plan health programmes

. (D) All of the above

70. hi r^earch design, if =flie later stages are

completed before the earlier one, terined

as;.: .

'(A) Forward and Backwmd Linkages

!

(B) Flexible Linkage

;. '(C) Pre and Post Linkage

^  ̂ Modified Linkage

P.T.O.



71. [HMPcrinsld ^ ^

^ i 7

(A) ̂

(B) ̂ RRT

(C) Rm

(D) "3i^

72. 31^ Rm 3IM

1^1^ "H^kTT "t" :

(A) #5T ̂  ^ ^

(B) "?r^ "3®! ̂  ^ ^

(C) 'ilel "5^ "^IT^ 4tS=HH ^

(D) <i4^dd ^ ̂  -q#

73. RiHRiRdd ^ ^Tsn ̂

^  ̂ t ? ,

(A) ,"21^ ^7?Tki^ ̂  11

(B) ̂ "ill ^ ^ chHsl

■*R "^BIT «TRiT % I,

(C) %eim tm ̂  ̂

t I

(D) -q^ t*T ^ -^pRf

^ t I

(3)3/15/2022/A

71. Which one of the following is not an

example of staple fibre ?

(A) Silk

(B) Cotton

(C) Linen

(D) Wool

72. Good quality linen fibre can be obtained

fi:om.: .

(A) Seed flax tree

(B) White flower flax tree

(C) Blue flower flax tree

(D) None of the above

73. Which of the following istatements is not

correct for Lappet weave ?

(A) It is very similar to embroidery.

(B) Small designs are stitched into cloth

while weaving.

(C) It has soft briish like surfece.

(D) The decorative designs are limited

in one colour.



74. PlHRiRsid ^

^  ̂ t ?

(A)

(B)

(C)

(D)

75. "M^fer ^ "^f ̂

t ?

(A) ̂  ^ C"^*^) ̂

ddidH t

(B) -SRJR ^ ̂ Wf^ t

(C) -^iP^dl'M ^ f

(D) <^(3^k cIsit

76. PdHrdRsid ^ ^ Mi«J)Iddi

W ̂ f ? .

(A) OTfWr

(B) -m ■

(C) ̂  w fT^rr ^Jcarr .

(D) cT8?T TfRi^

{3)S/15/2022/A

74. Which one of the foUowing is not an

example of oxidizing bleach ?

(A) Potassium pennanganate

(B) Hydrogen peroxide
✓

(C) Sodium hypochlorite

(D) Sodium thiosulphate

75. Which of the foljowing is not correct for
\

^'^Ikat' ?

(A) It is another sort of technique of He

and Dye^

(B) It can be of several types

(C) It has geometrical designs

(D) Its chiefpatterns are Beldar, Butidar

and Shikhar Ghar

76. Which , of the following is not an

Indigenous or Natural Dye ?

(A) Cochineal mid Tyrimi Puiple

(B) Madder and Indigo

(C) Iron Buff and Catechu

(D) Vat and Mordant

P.T.O.



77. ^ afefFT

t ?

(A) "Rff^ ^ 3Tk 1%^ ̂
•ft

B" I

(B) 3RTm ^ "q^ w

^  t I

(C) ^ -q^ ̂  felT ̂

t !

(D) ̂ ^7^ ^ ̂

78. ^ ^ ^7q^'

"4* RnldRsid "qfMq "qi^ ̂  f :

(A) '^* <iCTrl<2iMl^

(B) ̂ k^n d<rcl<2t'i1'q "^fe

(C) ̂ ^7^ #if -k" ^ ̂

(D) "5q^ ̂

79. ^ "qqr T^qicW ^

yctjK ^ ?

(A) "rtWT) 3^5?kTH

(B) ̂

(C) 3I3?f«IFT

P) simR^ .ki^

(3)3/15/2022/A 8

77. What is an essential feature of Duplex

Printing ?

(A) Printing is done on both the sides

P) A coat of photosensitive chemical is

used

(C) The stencil of the design is prepared

first

P) None of the above

78. Making fabric with nanoparticles or

nanofibres bring in the following

changes :

(A) Significance increase in weight

P) Significance increase in stifiiess

(C) None of the above two

(D) Both of the above two

79. Which one of the following is not a tj^e.

of qualitative research ?

(A) Bfhnographic research ..

P) (i!ase study

(C) Descriptive research

P) Grounded theory research



80. ^ ̂ ^ ̂  ̂

^ f ?

(A)

■Q^* ^

^ t t

(B) 1997 ^ "^' TJfM^^ ^
1^ "W "I I

(C) ^ "Q;^* c^ldM<u| ^ 1^

■^rrMk ^ ̂ ct)a f" I

(D) ^

81. ^ -q;^ fer^*

^ ^ "qjw ^8iT ^

t, •■^ ■^' ^3THT ^ t I

(A) ®eiTch

(B)

(C) H^RrH ^

(D) d^Kd %f

{3)S/15/2022/A

80. Which one of the following is nol correct

for an azo dye ?

f

(A) They are used as colourants for

leather, textiles, cosmetics and

food

(B) They are banned in India since

1997

(C) They pose a serious risk to human

health and the environment

(D) None of the above

81. A cardboard copy of the basic pattern

that has dart areas and seam allowances

cut away is known as :

(A) Block

(B) Sloper

(C) Muslin Shell

(D) Production Pattern

P.T.O,



82. ^ ^ TifeTT "3^

WTH ̂  3Trqf^ ^ ^ ̂

OT ^ ^ "t, "^jTBt

^ f : ' -

(A) WJTU

(B) "qpft

(C) "m

(D) 3TQ^Rftfe7 ̂

83. 1bhr wit^ ̂  tofe

■Rwf "H^T^T chH^ tilqi «(1I^
"t, ^51^ ■^-■^^nf

^Hld<ui ^ ■^" ^ t,

cti^^rildl t :

(A) cbu^|<iu^ -qft^

(B)

(C) ^ 3Tk

(D) ^

84. Mlvildi ■^* =hlH(ridl, 3^^ cTSTT
^ ̂  %T wiW ^ -siT^
t :
(A) ^tcR W?
(B)

(C)

(D)

82. A type of cutting process in which

cutting of fabric is done by a high

velocity jet of high temperature ionised

gas, is known as :

(A) Plasma cutting

(B) Water jet cutting

(C) Laser cutting

(D) Ultrasonic cutting

83. A feed system that is used on all regular

sewing machines for making flat seams

on materials where inter-ply shifting is

unlikely to occur, is called :

(A) Compound feed

(B) Unison feed

(C) Drop and variable top feed

(D) Drop feed

84. Lines that are used to add softness, grace

and feminity in a dress are :

(A) Horizontal lines

(B) Curved lines

(C) Vertical lines

(D) Diagonal lines

{3)S/15/2022/A 10



rVi*

85. ^ ^

^  ̂ [q<'»5 ■'T^v^

^  t ?T?^T ^ ^ "HTar

■diiM< dci^ Rk^ <l^dl "t" :

(A) ^ ̂

(B)

(C)

(D) ^ ̂

86. "^^FT "Wt ^ ^1chK ^

t :

(A) %?R ^ ̂  "qft^ WT "RT

(B) ^ ̂  ^ -qr

(C) ^i?R ^ ̂  TR

(D) ^ ̂  yldJIHH WT "qr

87. "qii' ^ TPik ferr ^ t:

(A) ^ %q;

(B) PciRriH ^ %T

(C) ^ %TT

(D) "qsTTskr^ ^ 1^

(3)S/15/2022/A 11

85. A device on sewing machine that holds

the fabric down firmly against the throat

plate and prevents the fabric from raising

and falling with needle :

(A) Feed dog

(B) Face plate

(C) Needle plate

(D) Pressure foot

86. Fashion realists accept fashion at' :

(A) Introduction stage of fashion

cycle

(B) Rise stage of fashion cycle

(C) Acceleration stage of fashion cycle

(D) Regression stage of fashion cycle

87. The term 'avant garde' is used for :

(A) Fashion innovator

(B) Fashion victim

(C) Fashion follower

(D) Fashion realist

P.T.O,
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88. ^ ^

^  ̂rmr t ;

(A) "iwik OT ^ ̂

(B) ^ ̂

(C)

(D) ̂  ̂]\i ̂  f^

89. "^pJIoRIT t^ra^ y-nVi "^T^ ■^'

f^ l^-m ■^sncTT :

(A) Mm ^

(B) "3^ ^

(C) ^ ̂

(D) 1^ to 31]^

90. '33' y^t^K "3iT =t)H-SI 3W, "5^ 3??7^

■qtosfT ^ im ̂  3^ ^ ̂

1? ^ wn -qr 375!^ cRi^

^  to t :

(A) ^^«.\i tto:

(B) ^ ^2TT

(C) ^

(D) Rh^j-S'I "31 n^-ciiq

88. O symbol on care labels of garment is

used for ;

(A) Machine wash

(B) Tumble dry

(C) Bleaching

(D) Dry clean

89. Quality tool which is used to identify

types and numbers of defects in the

samples of apparel products :

(A) Control chart

(B) Pareto chart

(C) Check sheet

(D) Scatter diagram

90. A type of fabric defect which is caused

by distortion in warp and filling

alignment of fabric in weaving or

finishing :

(A) Wavy selvedge

(B) Bow and Skew

(C) Berre and streaks

(D) Shrinkage or Stretching

(3)S/15/2022/A 12



91. rHHPdRsId 1^' ^

4' ^ ̂ ^ "^T^*

t ? '

(A) ^ qR-HirNd

(B) ̂ ?RW3if ̂

(C) OT?iTHf ^ 'W^

(D) toWf ̂

92. ^ WT ^ ̂

3tR f^F^^oM ?TTte t ?

(A)

(B) TFl^ '=h<^ "^*

(C) "^iT^ "^'

(D)

93. "qrfwfe ^ t^. ■^'

^ ̂  arfq^KFT t ?

(A) mfe

(B) ^ ST^TSIT

(C) -t^dirn^Ri ^ 3^^^

(D) ^diRici

(3)S/15/2022/A 1

91. Which of the following is not a step of

decision-making process in Home

Management ?

(A) Defining the problem

(B) Ignoring the problem

(C) Identifying the alternative solutions

(D) Analyzing the alternatives

92. Which step in management process

involves assigning tasks and

responsibilities to the employees ?

(A) Planning

(B) Organizing

(C) Controlling

(D) Evaluating

93. In which stage of the family life-cycle,

the demand on energy will be

maximum ?

(A) Beginning stage

(B) Expanding stage

(C) Post-retirement stage

(D) Contracting stage

3 p.T.O,
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94. v:^ i\ ^ ̂  ^

■W'MiRjia

^ cbea "t" :

(A) "RfeTT

(B) 3TT^ (%^)

(C)

(D) -slq^Rri'i

95. ^ WfiK "qfWTRI^

^ ̂ Tlf^ ^ ̂

t srk <icMKH ^ ^3TmT t, t :

(A) TTRT^Mf ^

(B) aMfW

(C) ^irfr%Tfw

(D) ?TRtfW 8^^

96. rnnrdRsld ^ ^

t ?

(A) 3T^ ^ l^/fed4il

(B) ^

(C) ^

(D) ^ ̂

(3)S/15/2022/A 14

94. The process of combining two or more

activities at the same time is known

as :

(A) Flow process

(B) Matrix

(C) Therblig

(D) Dovetailing

95. Type of fatigue that results in an aversion

to some work and reduces the output

is :

(A) Muscle fatigue

(B) Industrial fatigue

(C) Psychological fatigue

(D) Physiological fatigue

96. Which one of the following is not a dry

garbage ?

(A) Egg shell

(B) Plastic can

(C) Glass bottle

(D) Cardboard box



97. PlHnrlf^d ^ =hH^I

■?T^- t ?

(A) ^

(B) ^

(C) 3TFT ^ ̂

(D) "qft^

98. Rnrdfed ■^* ^ ^?ITO 3TfeK ^ "HvqT^

■^'ll'd did 3TR

"W^ ch<'^ "^' "H^R "^FTTcTT "I" ?

(A) ^ ̂  a#ITO

(B) ^ 3qfeR

(C) ^ ̂  ^mK

(D) ^ ̂  S^teTT

99. ^ ^ ̂  ^rMKdi ^

3lk ^ <itMKd, 3TFjf^ ^

"f^OT ^ ST^f^ W t ^
"3^ ^ :

(A) ^

(B) ■^' dN<c|id1

(C) WM "3KIT

(D) fer^

(3)S/15/2022/A

97. Which of the following is a social factor

that can influence most the consumer

behaviour ?

(A) Religion

(B) Geographical region

(C) Income level

(D) Family

98. Which of the following rights is the right

that enables us to acquire knowledge and

abilities to make wise choices of

products ?

(A) Right to be heard

(B) Right to consumer education

(C) Right to be informed

(D) Right to choose

99. When the producer or seller of a

commodity derives unrccisonable profits

from the production, supply or

distribution of goods and services, it is

known as :

(A) Deficiency in service

(B) Negligence in service

(C) Monopolistic trade practices

(D) Adulteration

15 P.T.O.
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100. 13;^ ohRki, WT: STFf "RT

Vm t "^aTT ^

iSl-il <lRfl Pictiitiicil ^sTRIT %■ cff HiRqiRqi

^  f^rRr ch^ciidl "i" ?

(A) 37TO

(B)

(C) %FT

(D)

101. "q^ TT^ ■q;^* q^[cl<ui

fHQl<^< "^TIBPT 'R^llfHch

f  I

(A) 6

■(B) 9

(C) 12

(D) 18

102. ^ ̂ arnMfw

W t :

(A) (B) wifw

(C) X^TBPRW (D)

(3)S/15/2022/A 16

100. When one person, usually husband,

maintains complete control of the income

and takes out small or large sum of

money as the needs arise is known as

which of the methods of family

expenditure ?

(A) Hand out method

(B) Fifty fifty system

(C) Equal salary method

(D) Apportionment method

101. In a simple system consisting of one

person, one machine and an

environment directional interactions

are possible.

(A) 6

(B) 9

(C) 12

(D) 18

102. The core science from which ergonomics

is not drawn :

(A) Psychology (B) Anatomy

(C) Chemistry (D) Engineering



103. ^

^  ̂ t t

(A) ̂Rrf^rfecHT

■(B) feo ^smm

(C) -fera

(D) Piq>eqoT 1%^RT

104." ciM % ^ ^ ̂
'; mRuih^^H .^*

^riM^ t- i

(A) ^ sk TfcWif ^

.  (B) 5Rk ^ "Rs!#

(C) ^

(b) tte ^ ■^,. •qra^Mf...-^'

105. ^ 5R^^Nr Sitf-qRo 3^

5R^qiNr t" : '

(A) M"C?S"1 -aiqcilch-i

(B) XI<JiRlch 3icn^)cftTi

(C) ^ wiNR .

(D) Tlr^' 31^#^-

(3)S/15/2022/A 17

103. Accommodation of people, where group

of aged persons living under the same
roof:

(A) Geriatric complex

(B) Dispersed residence

(C) Congreg^ living

(D) Proximate residence

104. Poor standing and sitting postures may

result in permanent changes in body

part

(A) Spine and muscle only

(B) Position of joints and muscle

only .

(C) Spine and other organ only

(D), Spine, other, organs, .position of

, . joints, muscles and ligamait only

105. TMs obseivation is unstifucti^ and

tmplanned 6b$ervation :

(A) G6fet observation

(B) Natii^ observation: ' ' "

(ej Nmve observation ^ '

(D) Overt obsbvation

P.T.O.



106. ^ ̂ ̂  ̂

f  I

(A) WT 13^*

(B) "q^* ^37^

(C) ̂  -q^' HPT

(D) WI, -q^* HPT

107. %?{ t^T # ̂"^Hf^Rhd f

^ trr® ̂  ^ ^ -^[^Idd

^ # ?

(A) iT\ ^q^spTT

(B) ̂ sitchl^l tj

(C) ■'Jjqi' "^NrT

0^) tn*

108. t|* •Rqnr qft

■TTfdM^ ^ "SfRrPlfHp^ ^

MolqiT, wf|TT "fer t 1

(A) -^i

(B) ^ ■

(C) -qf^ - ■'

(D) W.; . . ,

(3)S/15/2Q22/A

106. The efficient way of doing a task means

saving

(A) Time and Money

(B) Time and Energy

(C) Energy and Money

(D) Time, Energy and Money

107. Which colour scheme consists of two

colours that join its complements on the

colour wheel ?

(A) Double complementary colour

scheme

(B) Tetrad colour scheme

(C) Split complementeiy colour scheme

(D) Corhplementaiy coloiir scheme

108. In a process chart standard

symbols, representing different types of

activities are used.

(A) Six

; (B) Four

(C) Five

(D) Seven

18



109. ^ wm ̂

<i<l^<^l t ?

(A) iiPdr^r^

(B)

(C)

■  (D) 3^' ̂

110, TfFPT ^

f # "3^ tT£2T ̂  ̂ ̂.^TPsiTT

- ■ '^m ̂  # ;

(A) .

(B) "^T^^TRR

(C) WTF?

(D)

111. ■Pmrt ^ WFTicq^ • -^

^^TpIR"""'" . -3fn^ T^'

.  smso t I .

(A) ^

(B) ^ w .^

'. (C).. m ̂

(D) W ^ -^ •

(3)S715/2622/A
•B

109. Which activity is an example of Torsal'

effort ?

(A) Stooping activity

(B) Walking activity

(C) Dressing activity

(D). Movement of eyes

110. \ The scale which has equal units of

measurement which enable to int^ret

the distance between them :

(A) Ordinal scale

(B) Interval scale

(C) Nominal scale .

(D) R^q: scale '

111; According to Piaget cqgnitive theory

•  concrete ope^Onal sfege-isi.::..... age.

(A) From birfe, to two years

(B) Two to seven years

(C) Seven to eleven years

(j)) .^Bvelye, to fourteen ye^ ̂  ; s :

.P.T.O.



112. ^ ̂ -cnfe ^ ̂

3qtr^ aram ̂  feo^

f 1

(A) 20 (B) 30 1^

(C) 28 1^ (D). 27 ̂

113. ■'7B" Htsfa ^^Wt-T oiltMch

"4' t :

(A) "^tzt

(B) WM TOT

(C)" TO-TO TOT

(D) TOT

114. TOT ^ "^TTOT a;n^

ddi ^"IRss+4 ^ ctii4 "^T^uTT "i" :

(A) 18 ^ (B) 16 ^ ..

(C) 14 ^ ̂  (D) 17

115. cpT •% ctieidi ■ni'iRicti

(A) 50 • /■ ■ .V ^ .-

<B) 70

(C) 85

(D) 92

(3)S/15/2022/A 20

112. Once a month in the middle of women's

menstrual cycle an ovum discharged

from her ovaiy in

(A) 20 days (B) 30 days

(C) 28 days (D) 27 days

113. This language system helps in learning

the blind child :

(A) Soft language

(B) Cooperative language

(C) Gesture language

(D) Braille language

114. According to Child Labour Law the child

cannot work risk work up to the age :

(A) 18 years (B) 16 years

(C) 14 years . ' (D) 17 years

115. The children below with ; IQ are

classified as mentally retarded.

'  ■ (A) 50 ■ . - •-

(B) 70 ■ ' ■

(C) 85

(D) 92



116. 4lq'i ^

WtfW TO -HRM^cidl ̂  t I

(A) "41 hRh^WcII

(B)

(C) MRMdcldl

(D) ̂ HlRid) MRHdc^dl
i*

117. 37RtHT^ 4 ̂2? PHHldRsld

c^qeK ^54 f" ^

srf^iqct) ̂  ■^* anlqid :

(A) ^ JifdRiM "^'

(B) Sir^Rid) ^'ii

(C) SHicHpi^dT

(D) odd^K

118. ^ ̂  MRMdci ^ ^ ^

^ t, TTSif 311^ ^ 3TRt^1T^ ^ f^STfcT

(A) "^ftoR

(B)

(C) ^tRtc^T

(D)

(3)S/15/2022/A 21

116. Puberty shows to the physical and

maturation of boys and girls.

(A) Sexual maturation

(B) Mental maturation

(C) Emotional maturation

(D) Social maturation

117. Child mention as 'bad parent' when

parents behave with child in the

following manner :

(A) Interfere with child's interest and

activities

(B) Too much attention

(C) Permitted independence

(D) Sympathetic behaviour

118. As children mature and move away from

home, middle-aged parents face this

condition :

(A) Painful life

(B) Empty nest

(C) Happy nest

(D) Problematic life

P.T.O.



119. hRcRIH ^ teRT ^

Ti^. fqqii^if^qi "g^ cim1

t :

(A)

(B) i^PTrTrTT qilH ct^i^filcriai

(C) STRTm^V

(D) "WT frrmr

120. "M ̂  ST^TTR ̂  *1^

■q^w ^ t I

(A) 10 (B) 12

(C) 8 . (D) 13

121. "q^ 3fi^' ^ ^ "sq^
cT^ qi<'ll ^iPey. ^ ̂

^Tqi4 •

(A) fewftq 3?k
(B) "^q^ sfR qqfqr .
(C) qqfRT StR

(D) fewfhr, 3qR q^ ■^*

122. •■qr^-fqcTT oqfq^r^

^ t ^rtqrq wnte qr

^ ̂  ̂  f I

(A) 5T^qf^ (B)

(C) y-^ldlRiqi (D)

(3)S/15/2022/A 22

119. According to Erikson's personality theory

old age brings on a core developmental

conflict :

(A) Trust verses mistrust

(B) Autonomy verses shame and doubt

(C) Initiative verses guilt

(D) Integrity verses Despair .

120. According to Hermann Rorschach,
Rorschach ink blot test consists of

total ink blots.

(A) 10 (B) 12

(C) 8 (D) 13

121. Already collected and available data

should only be used by a researcher

when it is :

(A) Reliable and suitable '

(B) Suitable and adequate

(C) Adequate and reliable

(D) Reliable, suitable and adequate

122 parents value a child's

individuality but also give stress on

social constraints.

(A) Permissive (B) Authoritarian

(C) Authoritative (D) Uninvolved



123. "RTm-ta mRcIkT ^

^ t :

(A) 3ITfe ̂

(B) fr^ ̂  ̂JpT^ ^TraPT

(C) ^^*4lRld

(D)

37raH

124. hiR'=iiR*^i Ri'Hd'i RiMRinad diK^I

t  :

(A) Ti;^ ^ '"^nfMf ■^* oqf^^ ^

(B) 31^

(C) M

(D) 31^q7QT?n

1

125. d>l<i^fdq ■^*

RHRifed i 3MRr :

(A) d^l<iT^Rd'd 3rf^ 3M«7

(B) d^MRHd! ^ MKWRd>

^ifsd ct><'il

(C) ^

(D) ^tcTT #TT

(3)5/15/2022/A 23

123. In a single parent family, parents :

(A) Become financially more secure

(B) Role of parenthood becomes

easy

(C) Hardships are compounded

(D) Adjustment with their children

becomes easy

124. The causes of family disorganization are

the following except :

(A) Personality defects in one or both

partners

(B) Incompatible roles

(C) Personality differences

(D) Compatibility between mates

125. The role of a counsellor in the

counselling process are the following

except:

(A) Initiate the counselling process

(B) Establishing interpersonal relationship
with the counsellee

(C) Giving advice

(D) Being an active listener

P.T.O.



126. (CRC) ̂

Ri<&iei Pi*^l(nRaa "f 3RTOT :

(A) ^ "f^ "qi# ^ feRT

(B) 3ri^ sfk feRT ̂

(C) "qq %sfcl

(D) "q^ ^ 37f^qiK

127. "q^ f^HT ̂  cbK^t) "t :

(A) ̂ qiP^qi w ^

(B) ^o4c|^K ̂  TFft%fe

f^qTR

(C) 1M' WMFT ̂

(D) ■qfq-'qc^ ■^'

128. 37T T# ^FT^' ^
=h<^ ^ Rriy, : '

(A) ^ MRq^d "q^' ^^Tqr ^qT%q;

(B) ^ oiia^la qj<i ^hnIP^ci Wtt
■qif^

(C) ^ #n ^qritq;

(D) -qqr-^ ̂  ^ -qf^ qFi

126. The fundamental principles of

Convention on Rights of the Child

(CRC) are the following except :

(A) Principle of first call for children

(B) The basic right to survival and

development

(C) The principle of discrimination

(D) The right of the child to be heard

127. The causative factor of domestic violence

is :

(A) Sense of security in marital bond

(B) Psychological disorder due to

misbehaviour in relations

(C) Previous experiences of harmony in

relationship

(D) Gro\vn attachment between husband
and wife

128. To resolve conflict in a marital

relationship :

(A) A person should not make changes

(B) Both should negotiate and
accommodate

(C) Couples should have high ego

(D) Low tolerance towards each other's
faults

(3)S/15/2022/A 24



129. R-CH

t :

(A) ̂ <=H*f^d XhFS^TTT 3^

(B) ^

(C) ^

(D) 'jiIcI'I^IqiI TTT^ ^

130. RRbrHl t :

(A) T^Wrf^

hRc|K ^ ■^TFRFiM ^ cl<l=t)"l ^

^ "f^ mR^K

^oai

(B) Tte^ ^ ^ wiW ^

^  WTT

(C) fer^' Rr=hrH<4i

c-hRk1 ^HIH^-'tllH^ ^<2ldl "I"

(D) r^Rtictictjl'H ^RictiVi ®r^ ^

?T^* ^ "q^^Tpft ^ ^rmrsif

^ <>HCK1 Si^nRl ^ t"

(31S/15/2022/A , 2

129. The family welfare programme,

integrated RCH package services are

related to :

(A) Prevention and management of

unwanted pregnancy

(B) Services for the elderly

(C) Services for the teens

(D) Management of life-style diseases

130. Family therapy is a :

(A) Psychological treatment in which

therapist sees whole family together

to analyse the patterns of family

functioning

(B) Therapeutic approach using

principles of learning theory

(C) Treatment in which therapist sees a

troubled person one to one

(D) Therapeutic approach that allows a

child to express feelings that trouble

him without using words

5 P.T.O,



131. WTW ̂ 5^ -q

RrW t :

(A) TIfW ̂  ^

(B) if ^

(C) TimW -% ^2T 3^f¥qW7 MK^Rdi

(D) HfM* ̂

• \

132. 4i1^3d)/yRl[^^l ^ T^PTT ̂  t :

(A) "Rife

(B) "dKrldi Ph-m

(C)

(D) d^MlRddidl

133. ^

^ yPdMKdi t :

(A) ^STT

(B) 4lci-s

(C)

(D) ̂  ̂«TT ^=kl1d

131. In 'Khedha Rural Television Project' the

programme production methods focus

on :

(A) Providing wrong information to

villagers

(B) Post-testing the needs

(C) Maximum interaction with villagers

(D) Avoiding villagers

132. Feedback is considered as :

(A) Conviction

(B) Motor action

(C) Description cycle

(D) Multilaterality

133. The 'Source-Message-Channel-Receiver'

model of communication was devised

by;

(A) Shannon and Weaver

(B) David Berlo

(C) Wilbur Schramm

(D) Westley and MacLean

/
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134. ^

(A) WlfMr=i ^ ̂-5(1 =+^<"1

(B) ^

(C) ^ vdHddldiiui

(D) ^ ^

135. TI^ ̂  ^."f^ "5?^

-t I

(A)

(B) ̂ dl^4i

(C)

(D) s^r^TT^.sfr.

136. yi^fyidi ^ ̂

viTl<ld< t :

(A) ̂

(B) ■^-■'

(C) UPd^VD

(D)

{3)S/15/2022/A

134. A major recommendation of the

MacBride Commission was :

(A) Centralization of media ownership

(B) Restriction of technology transfer

(C) Democratisation of media

(D) Higher tariff for telecommunication

135. United Nations mandated as the

principal organization to be responsible

for communication.

(A) UNESCO

(B) UNICEF

(C) WTO

(D) WHO

136. After the introductory stage, the

advertising spiral moves towards :

(A) The retentive stage

(B) The neo-pioneering stage

(C) The competitive stage

(D) The rejection stage

27 P.T.O,



137. t ^ ^ ^

^ ̂  ̂ :

(A) [q^nHicH^h yal-^hdi

(B) ̂ hjfenTT

(C) ■RWPFRhr^

(D) WTTf^

138. ^ ^

yikjchdl ^ rHHPdnsid srfql^ste

^ ̂  t :

(A)

(B) tpihr^

(C)

(D) ^cj^KMich

139. chfel'K '3T^^T^ t :

(A) 31oJT^f^ (B) WTTcTJ^f

(C) (D) mRmiuiich^

140. 'TricTWit ^ t :

(A)

(B) <1MH1H

(C)

(D)

137. E. M. Rogers in his theoretical advocacy

of diffusion of innovation introduced the

concept of :

(A) Developmental symbolism

(B) Technocracy

(C) Cosmopoliteness

(D) Social Interaction

138. The Westley and MacLean model of

communication identifies the following

role of the receiver :

(A) The advocacy

(B) The environmental

(C) The gatekeeper

(D) The behavioural

139. According to Kerlinger 'Content
Analysis' is :

(A) Unsystematic (B) Biased

(C) Manipulative (D) Quantitative

140. The major strategy of 'Participatory

Communication' is :

(A) Government Scheme

(B) Top-down approach

(C) Information dissemination

(D) Dialogue

(3)S/15/2022/A 28



141. iRTK MRqui

t :

(A) WT OT

(B) "^Wt^ mRcIcIh ^

(C) 3lf^^Rl4f '^' mR'=1^H "SKT

(D)

142. a^miMvR ^ ̂  :

(A) '^" -sTQ^rMy^

(B) 'W^ erRi! ̂

(C) ̂  "^t^FTR #Tf ̂

(D) ^

143. RiMPdRsid

iMd.4) *1^ "I" ?

(A) ̂

(B)

(C) ^

(D) ^

(3)S/15/2022/A

141. Extension education brings changes in

human behaviour by :

(A) Change in Knowledge

(B) Change in Skill

(C) Change in Attitude

(D) All of the above

142. Non-formal education is meant for :

(A) Urban and less educated people

(B) Rural and uneducated people

(C) Young and unemployed people

(D) All of the above

143. Which of the following is not a

component of Sarvodaya activity ?

(A) Bhudaan (Land Donation)

(B) Shramdaan (Labour Donation)

(C) Sampatidaan (Property Donation)

(D) Vastradaan (Clothes Donation)

29
P.T.O.



144. PHMfdRdd ^ ^

t ?

(A) f¥HcT ^

(B) "^rfw ."^ "5^ "=5^ if

t

(C) "HW ̂  ^ i

(D) ^ SRirf^ ^ ̂

^ t

145. rHHPdRsld A' ^ ^

(ICDS) % 7

(A) ^ 1^

■fvryr

(B)

(C) i1d,|cb<Ul

(D) fw^

146. qil-HHi TPJ? "^-"S^fTcT

(A) "qk^^?

(B) ^2TT

(C) ^S!TT

(D) -^61^ ■^87T ^

(3)S/15/2022/A 30

144. Which of the following is not the

characteristic of community ?

(A) A definite geographical area

(B) Communities are close-knit

entities

(C) They follow the same occupation

(D) There is discernible leadership

within the community

145. Which one of the following is not the

function of (I.C.D.S.) ?

(A) Informal education for pre-school

children

(B) Supplementary Nutrition

(C) Immunization

(D) Skill Development Training

146. Which one group does not belong to

non-projected visual teaching aids ?

(A) Charts and Posters

(B) Slides and Film Strips

(C) Models and Specimens

(D) Flash Cards and Black Boards



147. im "4*

(B) "^RFTTSlf ^ ̂  t

sfk ■i'l^l ^FTPfR -^Idl ^ I

(C) ^ 1^ ̂

^ WtUt 1%^ ^STM't I

(D) «im, tq ^ qq#Tt

^ 4t viM-Mlq fen ^nrnr t i

{3)S/15/2022/A 31

147. Which schemes were merged in

'=til fn^rii fqqi nqi Swama Jayanti Gram Swarojgar

sn ? Yojana ?

(1) (1) TRYSEM

(2) 37lf.31R.^.-qt. (2) IRDP

(3) (3) DWCRA

(4) (4) All of the above

(A) (1) -nen (2) (B) (1) w (3) (A) (I) and (2) (B) (1) and (3)

(C) (2) (3) (D) (4) (C) (2) and (3) (D) (4)

*fe3 ^ "4 ^ ̂ 148. Which statement is not correct in context

^  t ? of "Mass Contact" ?

(A) 4* TTPT feft (A) Contact is established with many

^  P+I-MI "STmr people at the same time in a very

short period.

(B) The problems of individuals are

heard and they are resolved.

(C) Audio and visual aids are used for

contact.

(D) Lecture, cinema, tape recorder and

exhibitions are also used.

P.T.O.



149. fHHfdlkd TR'

^ %TT t ?

(1) ^ Pd^-iOchiui ^ TT^

t  I

(2) M-dMdl XM WHT 1959

ipsRra -^f ^ Tff s^t I

(3) 311^^ t I

(4) fd^ld^, 3;TFTcrM

MI«^rH=h ^ ̂ vm^

y^<£j "^iFf "t I

(5) "3^ ̂ err 3T^

^ "^tTT^rf ̂  c+iWMI I

^ :

(A) (1), (2) ̂  (3)

(B) (2), (3)-sSk (5)

(C) (2), (4) sfk (5)

(D) (1), (4) 3lk (5)

150. ■^' ^JlFs^TT ^ ̂  ̂  ̂̂rflTT ?

(A) ^ ^ ̂  ^

(B) ^iT4 ^

"?TT21-'e«T

(C) cT^ff

. (D) ^ ^ ̂

(3)S/15/2022/A 32

149. Which of the following statements are

correct for "Panchayati Raj" ?

(1) This is a form of decentralization of
Government.

(2) First Panchayati Raj was established
in 1959 in Gujarat.

(3) It has a four-tier system.

(4) Its main function is to establish
schools, libraries, hospitals and

primary health centers.

(5) Construction of roads, bridges and
other public facilities in its area of
operation.

Codes :

(A) (1), (2) and"(3)

(B) (2), (3) and (5)

(C) (2), (4) and (5)

(D) (1), (4) and (5)

150. Interpretation in research should be

done:

(A) Since beginning of the research
work

(B) Simultaneously after each step of
research work

.(C) After collecting and analysing all
facts related to research

(D) None of the above
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